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26.

27.

28.

29.

30.

SECTION - II

MATHEMATICS
Factors of a polynomial are (x — 7) (x — 8). Find the polynomial.
(1) x% + 15x + 56 (2) x% + 15x — 56
(3) x% — 15x + 56 (4) x* — 15x — 56
Reena had some flowers. She prepared garlands from them. When she made
every garland of 12 flowers, she was left with 11 flowers. If she had used 16
flowers for each garland then she would have left with 15 flowers. If she had

used 18 flowers for each garland then she would have left with 17 flowers.
Find the minimum number of flowers that she may have.

(1) 161 (2) 155 3) 143 (4) 145

The sides forming right angle of a right angled triangle are 7 cm and 24 cm.
Find the radius of the circumcircle of the triangle.

(1) 25.0 cm (2) 12.5 cm
(3) 12 ecm 4) 13.5 cm

Every year the population of a town decreases by 5% due to migration of the
people. In the year 2022 the population was 9025. Find the population of the
town in the year 2020?

(1) 10,000 2) 11,000 3) 11,025 4) 10,250

The denominator of a fraction is greater than its numerator by 6. If the

numerator is decreased by 1 and the denominator is increased by 9, then the

new fraction is equivalent with % Find the original fraction.

M 3 @ 2% ® 15 @ B

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

30.

Section - 1I
Q1
wls ollors AMAL M9 (x=7) x=8) 9. dl d Ul 557
(1) x2 + 15x + 56 (2) x2 + 15x — 56
(3) x* — 15x + 36 (4) x* — 15x — 56

~ A

Al wad 52dis sdl © dA¥l Ucds HouHl 12 uHgl sélidl Hon otdidl dl asdl
Wl 11 gdl ousl a8 9. o4 UcdsHL 16 54 UHIGL WL ol dl 15 sl
ol 4l 9. o4 Uds Wi 18 Al uHWl W oidl dl 17 sdl ousl 4b 9.
dl ddl w2l sl sedl sdl ¢d?

(1) 161 (2) 155 (3) 143 (4) 145

-~

wis si2siel PsioMl siesiol otdiadl ooyl dous) 7 @l wid 24 @Hl 9 dl
Ul Bsigidl uRadadl Bieear s2dl?

(1) 25.0 =l (2) 12.5 =l

(3) 12 =l (4) 13.5 =l

YNIARAL 5RQL s UMl vl 2 ¥ 5% € uWl @il WM 9. 2022
Al wani i ooumdl disHvar 9025 9 dl 2020 <l 2w@Hi vl UMl dlsival
sedl eq?

(1) 10,000 (2) 11,000 (3) 11,025 (4) 10,250

s 2YQlsdl 92 ddl 29 KAl 6 o2dl AR 9. o4 vigHidl 1 ole i

-~

NN e ~ G 1 N G ~
wid Gl 9 GHL 2iyulisdl Bud o a9 dl Yo wryls sui?

(1) 3 (2) 2% (3) 15 (4) &
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31.

32.

33.

34.

35.

Solve. (Select two correct options)

3x+2 , 2x , x+1 _
6 T3 T3 T

(1) % (2) 25 (3) 3.5 4) 3%

5

If an article is sold for Rs. 150, certain loss is incurred. But if the article is
sold for Rs. 275, the profit is one and half times the loss. Find the original
price of the article.

(1) 225 (2) 250 3) 175 (4) 200

o 2% + 7x + 6
Simplify - 273" 39

2x+3 2x—3
() 2 IF15
2% —3 2x+3
G ¥=15 ()

9

To complete a job, ‘A’ requires 12 days. For the same job, ‘B’ requires 20
days to complete the job. Both of them worked together for 3 days and then A
left the job. To complete the remaining job, how many days ‘B’ will require?

(1) 18 2) 15 3) 12 4) 10

Mrs. Desai purchased 30 tables. Out of that she sold 25 tables and received the
same amount which she had spent to purchase 30 tables. Find the percentage
of profit or loss in this transaction.

(1) 25% profit (2) 20% profit
(3) 20% loss (4) 25% loss

SPACE FOR ROUGH WORK
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31.

32.

33.

34.

3s.

G5l

XEZ2 2 20l os (A 2y wal dil)
(1) % (2) 2.5
(3) 3.5 (4) 35

-~

wis d2d 150 3L dudl ov2dl viie ur dedl €122l dgl wl dvd, 275
3UAHL QAL = 9. dl Addl Yo BHa sear 3Mu?
(1) 225 (2) 250 (3) 175 (4) 200

AUIEIU AL,

2x2 + Tx + 6

x2 — 13x — 30
2x+3 2x—3
(1> xx—ls (2> x)EHS
2x—3 2x+3
(3> xx—15 (4> x)fl-IS

Y Y N

is s YRl kAl HI2 A A 12 [Ean 4Pl 9. dl B 4 20 [Eau a4l 9.
olerdnl HOlld A s1M 3 [au sl usl A s oIl ovdl ¢ 9. dl ddg s
Yol sl HI2 B 4 52dl [can o ?

(1) 18 (2) 15 (3) 12 (4) 10

AUl 2 ovedl Buaui 30 2o wilel sul dedl or (Bud quigl 25 2014
Ald Hadl. Al B UASRUL dud A5 gl 2¥dl vz sedl ud?

(1) 25% <sl (2) 20% <sl

(3) 20% wii2 (4) 25% wii2
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36.

37.

38.

39.

40.

41.

3* = 27Y = 92 = 729. Find the value of (xyz)%.

(1) 36 (2) 216 3) 6 4) 11

Which of the following polynomial has the co-efficient form (2, 0, 0, 0, 0, —5)?
() 2x* -5 2) 2x6 -5

3) 2x° -5 4 x> -5

A ditch 20m. long, 10m. wide and 5m. deep was dug and soil was spread
evenly over a ground that was 25m. long and 20m. wide. What was the
thickness of the soil spread? (Choose two correct options)

(1) 20decimeter (2) 20cm.

(3) 2.0m. (4) 20m.

The diameter of a ball is 20 cm. Find the volume of the air in the ball.
(r = 3.14)

(1) 41866.7 cubic cm. (2) 4186.67 sq. cm.

(3) 418.67 cm?. (4) 4186.67 cubic cm.

The price of a washing machine is Rs. <5+)6C). Find the price of <)6C—§}>

, . y
washing machines.

x> 25 x> | 25
(D (%—7) 2) (%U—)
2 2 2
2
® (35-35) ) (%‘%)
A car travelled the distance 38 km, 27 km, 40 km, 35 km in the first four

hours respectively. How much distance the car should travel in the fifth hour,
so that the average speed of the car will be 35 km/hr?

(1) 25 km (2) 40 km (3) 45 km 4) 35 km

SPACE FOR ROUGH WORK
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36.

37.

38.

39.

40.

41.

3

3% =27V =972 =729 dl (xz)? = ?

(1) 36 (2) 216 (3) 6 (4) 11
(2, 0, 0, 0, 0, =5) >l AAQs 3U €4 ddl oguel 5657

(1) 2x* - 5 (2) 2x6 -5

(3) 2x° - 5 (4) x> -5

Bs vidHl 204l x 104l x SHl GGl wush vigdi auigl dlsadl wel 254l
doils) e 204l usiousalon Held u w5 wvil wedl di edl sl Hidl«dl
92 AduR Ad? (ol »iys uula wldl)

(1) 20 3fasl: (2) 20 @l

(3) 2.0 = (4) 20 Hl=2

s goldl 2t 20 "l 9 dl dui el cad adsa 524? (m o= 3.14 dl)
(1) 41866.7 a.uHl. (2) 4186.67 L4l

(3) 418.67 =@l (4) 4186.67 a.usl.

ss i ugladl Bua (S+F) sheu & diodu (F-3) difin wdlad

V
[Gua 3ol 3Muan 29?

M) (3-3) @) (3+33)
(o) (3-%) (@ (2-5)

Vs dled uddl AR sAlsHi viqsH 38 [sHl, 27 [s8l., 40 [sHl. 24 35 (58l
ViR 51V, uRAHL sAlsHl 529 widR s, dl dleddl W<l Qo 35 (sl /s
99l ?

(1) 25 [s4l (2) 40 [s4l (3) 45 [sd4l (4) 35 [s4l
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Directions for Question 42 and 43.
In the following ‘Percentage Bar Diagram’ the percentage of expenditure and
savings of Shri Tushar is shown. Observe the graph and answer the questions
that follow.
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.
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42.

43.

44.

45.

46.

47.

Shri. Tushar’s income in the month of February was Rs. 40,500. Find his
savings in that month.

(1) 12,150 (2) 28,350 (3) 12,500 (4) 28,000
Find the ratio of savings to expenses for the month of ‘May’.
(1) 17:3 (2) 5:17 3) 17:5 4) 3:17

Laxmanrao purchased shares worth Rs. 10,500 and paid 0.5% brokerage. Find
the amount spent to purchase the shares including brokerage.

(1) 15052.50 (2) 52.50 (3) 10552.50 (4) 1044.50

Choose the correct alternative in which all the pairs are matched correctly.

A) Y —17y—60 a. (y—12)(y-5)
B) 12—17y+60 b. (y+20)(y-3)
C) »+17y-60 c. (y-20)(y+3)
D) 2+ 17y+60 d  (+12)(y+5)
(1) A-c, B-d, C-a, D-b (2) A-c, B-a, C-b, D-d
3) A-a, B-c, C-d, D-b (4) A-d, B-b, C-a, D-c

The inner surface of a cylindrical well of height 14m and radius 250 cm is to
be plastered with cement-sand layer. At the rate of Rs. 100 per square meter,
what will be the total cost in rupees?

(1) 22,000 (2) 22,00,000 (3) 2,20,000 4) 220

A shopkeeper sold two articles with marked price Rs. 1900 to A and B. He
sold one article to A by giving discount of Rs. 171 and sold another article
to B by giving discount of Rs. 152. How much was the difference between
the percentage of discount given to A and B?

(1) 0.5 2) 19 3) 1 4) 0.1

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

47.

dl gurdl sg2Rl Hedidl »uas 3.0 40,500 8 dl d uledidl ol sedl?
(1) 12,150 (2) 28,350 (3) 12,500 (4) 28,000

WAl otaddl vl A4l 2l 52l ?
(1) 17:3 (2) 5:17 (3) 17:5 (4) 3:17

4gqQRId 10,500 3(Udidl A2t duldl dlui ddl wr 0.5% edidl @Al dl saudl
g goiddl wikle Bua sear 3Man?
(1) 15052.50 (2) 52.50 (3) 10552.50 (4) 1044.50

e C. =\

ofsedl el od¢l »1ys cl ddl uwula Wl

st

w) 32 - 17y — 60 a. (y-12) (v - 95
o) 32— 17y + 60 b. (v +20) (y - 3)
5) 12+ 17y — 60 c. (y—20) (+3)
$) 12+ 17y + 60 d (+12) (¢ + 5)
(1) #A-c, o-d, $-a, $-b (2) ¥-c, o-a, 5-b, ¢-d
(3) @t-a, ©-c, 5-d, $-b (4) 21-d, ot-b, s-a, $-c

s adousik daisk saedl Gos 1442 vd Bloall 2504l 9. sAldl vierel
YLEHPIHL [AH2-Adldl Ay q@ouaal Wiz €2 ARkA 2R 100 3[adl 2 osd vl
Sedl 3Mual wu9l?

(1) 22,000 (2) 22,00,000

(3) 2,20,000 (4) 220

gsleR 1900 3 9udl BHa ¢l ddl o dzd dudl A ulad 171 3
wd B eulsad 152 3(Uul 92 il dl otedd U4l 9241 gsldeR S2dl 251l
R sdL?

(1) 05 (2) 19 (3) 1 4) 0.1
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In the adjoining figure £y = 90°, Il(xy) = 8m. Il(yz) = 15m, WM 1 XZ,
WM = 6m. Find the area of the figure.

\W%
X
M
Em
Y_| Z
15m
(1) 171 (2) 111 (3) 162 4) 222

Two lines are intersecting each other. The measures of the vertically opposite
angles in a pair are (2x + 65)° and (7x — 10)°. Find the measures of each
remaining angle.

(1) 95° (2) 85° (3) 75° (4) 105°

AC is the diameter of a circle. ‘B’ is any point on the circle. Find the false
statement from the following. (Choose two correct options)

(1) «£BCA < 90°

(2) ABCA is an acute angled triangle

(3) «Z£CAB > 90°

(4) Measurement of the arc ABC = 180°

Two rectangular grounds have area 1541 sq. m. and 759 sq. m. respectively.
If both the grounds have same breadth, find the breadth of the ground.
(1) 33 m. (2) 69 m. 3) 23 m. (4) 67 m.

SPACE FOR ROUGH WORK
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48.

49.

50.

S1.

ologell 2u5lani £Y = 90°, I(XY) = 84l, [(YZ) = 15 H., WM L Xz,
WM = 6 4l dl suglasi 2uual epuisd aasa seql Al |l 1d?

W
X
M
84l
-
Y 154l. g
(1) 171 (2) 111 (3) 162 (4) 222

of JulBll WRRUR 92 9 AR olddl wAMSI0AL WY (2x + 65)° B (Tx — 10)°
@ A\

L otsl afdl €35 voud, HIv sedl »ig ¢u?
(1) 95° (2) 85° (3) 75° (4) 105°

-~

s adadl AU AC 9 24 [0 B 2l adol wrd sidugl s [ag 9. dl
Alamidl vi2 [Qad 21?7 (ol 1ys uui wl)

(1) ZBCA < 90° (2) ABCA dgsigl [asia .

(3) ZCAB > 90° (4) a4 ABC <« HIu 180° .

AUl uclousalon o doldiRy Helddl &As 2idsd 1541 ALHL 24
759 ALHL 9. dl Helddl uclonss sedl?

(1) 33 Hl. (2) 69 Hl.

(3) 23 L (4) 67 Hl.
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52.

53.

54.

5S.

56.

57.

If (17 x 19 x 4) + m = 161.5 then find the value of ‘m’.

(1) 0.6 2) 7.0
3) 0.8 4) 8.0
Find the value of 992%

(1) 31.05 (2) 31.5
(3) 31.25 (4) 325

Which of the following is an irrational number?

1) 3.14 Q) 22

(3) =« (4) 3.142857

Where is the ortho centre of a right angled triangle located?

(1) In the interior of the triangle. (2) On the vertex of the right angle.
(3) In the exterior of the triangle. (4) Anywhere on the triangle.

Four numbers p, q, r and s are in proportion. Then find the correct statement
from the following. (Choose two correct options)

1 B=4 @ =1
(3) pq =18 (4) sp =qr

‘x> years hence, Mariya’s age will be ‘)’ years. Then find her age 10 years
before.

(1) y—-x+10 2) y—-x-10

3) y+x+ 10 4 y+x-10

SPACE FOR ROUGH WORK
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52.

53.

54.

5S.

56.

57.

(17 x 19 x 4) + m = 161.5 di m = ?

(1) 0.6 (2) 7.0

(3) 0.8 (4) 8.0
Joork =7

(1) 31.05 (2) 31.5
(3) 31.25 (4) 32.5
Alimial 2240409 vl 557

(1) 3.14 (2) #

(3) = (4) 3.142857

52519l BPsiomi [Ridoiiuia [ogd 2214 sai gl 97

(1) Bl 2Aid@H (2) seslol odiadl [BRifeg w
(3) [Brsigidl e (4) Bsigr w2 sisugl syt

=\ ey

P, q T, ¥ AR wvdl YHIQML 9 dl dldamidl uca [Gad wliovdl,

(wg\s G‘nz«u ol yuid glidl.)
(1) ® (2) P-4
(3) » (4) sp = ar

N

x ¥ ugl wludl Gu oy ad 29 dl ddl 10 9 udaudl G keal 9 edl?

(1) y —x+ 10 (2) y—x—10
(3)y+x+10 (4>y+x—10

s5d 51AL 514 W2

0411-Gujarati Set-A 21 of 32 P.T.O.

IS AR 4R I X4RC 4R I TR F4RC I TR JARC T X4
O\ O\, 8\,&\[&\ /&[S 8\, 8\[8\[&\ 4\ &\
AR AR AR AR AR AR AR AR AR AR A AR H



B X XL XA AP X0 XA XA b b XA 4P xAP XY

58. Find the value of 31.25%.

I i @ i B) % @ 12

59. In the adjoining figure ZTPQ = ZTPR. Side PQ = side PR. Then by which
test AQPT and ARPT are congruent?

P

Q R
(1) S-A-S (2) S-S-S (3) A-S-A (4) S-A-A

60.  The measure of an angle is % times the measure of its supplementary angle.

Find the measure of its complementary angle.
(1) 30° (2) 90° (3) 150° (4) 60°

61. A school had arranged a trip and started on Saturday at 6.30 a.m. They returned
the next day on Sunday, at 8.15 p.m. Duration of the trip was for how many

hours?
(1) 253 hours (2) 373 hours
3) 37% hours (4) 47 hours 45 minutes

SPACE FOR ROUGH WORK
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58.

59.

60.

61.

31.25% = $eal?

(1) 1% (2) 15
(3) %% 4) 3

ollogell 2usldMi £ TPQ = ZTPR, clisy PQ = ollsy PR dl AQPT st ARPT
w6l sl 589 suidlqur viszu 97
P

(1) on v ol (2) ow o o
(3) v oon v (4) o v v

Y Y

Bis VRl HIU dedl YRSSI9L Hiusdl % A 9. dl d vudl silsioe |
5247
(1) 30° (2) 90° (3) 150° (4) 60°

s doud uded alar Hedgd yd 630 ARl dlsolld ofloa [zad 2[R
Helgdltz 8.15 APl Ul 2 dl wded sd b2dl sdlsd, 247

3 3
(1) 25 7 sais (2) 377 sas

(3) 374 sas (4) 47 saus 45 [
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62. A square piece of paper having length 8 cm. is taken, squares of size 1cm x 1cm
are cut at its four corner places. Find the difference between the perimeters
of the original paper and the paper which is cut at its corner places in cms.

(1 0 2) 8 3) 1 “4) 4
63. Observe the following figure and select the correct statements.

B

A

(A) Line AB and line BA are different lines.
(B) Line AB and line DC intersect at ‘O’.
(C) Point C, O and B are non-collinear points.

(1) ‘A’ and ‘B’ are correct. (2) ‘B’ and ‘C’ are correct.
3) ‘A’, ‘B’ and ‘C’ are correct. (4) ‘A’ and ‘C’ are correct.
64. Find the capacity of a hollow cube whose side is 10 cm. (Choose two correct
options)
(1) 1 litre (2) 1000 cubic cm
(3) 1000 litre (4) 100 ml

65. Area of a circle is denoted by ‘A’ and radius by ‘7’. Choose the correct statement
from the following that states the correct relation of variation between A and r.

(1) Aocr (2) Aoc#
3) Awx L @) A o« 2

SPACE FOR ROUGH WORK
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62.

63.

64.

65S.

NN Y

8 Ml dous) lu WAl w5 URABR SPIA 4P ddl ARY v 1A4L x 1L

-~

wudl sidl dlan dl oo sl uRBA wid v st ugl adal sl
kRl azdidl s seal dHl cu?

(1) 0 (2) 8 (3) 1 (4) 4
wudl sugla He dlRidamiEl s [ 215 97
B

A

2) 0l AB id il BA [Gted 02 6.
o1) il AB id vl DC ww ‘07 [oigui 9z 9.

-~

) [og C, O »1d B 2uuul [oigail .

1) D wd ‘o) 2y (2) ‘o’ wid 5 wys

) , o e s AN 1Y (4) D 24 ‘5 wys

10 a4l ollsy ¢ld ddl 215 uisol addl aRsdl 2dl? (o w15 uula wldl.)
(1) 1 [a= (2) 1000 el

(3) 1000 [a22 (4) 100 [.[a.

adiid, &Asn AT 9 Bid Bleall 7 9 dl ‘AT Bid 7 AL ot Addd]
Rige aruld qvil.

(1>Aocr (2)AOCL2

(3) AL (4) A o« r2
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66.

67.

68.

69.

Find the correct pair of twin prime numbers from the following in which the
addition of twin prime numbers is more by 44 than the sum of all prime
numbers between 1 to 25.

() 71,73 (2) 41, 83
(3) 59, 6l (4) 41, 43

If the ratio of the measures of angles of LJABCD taken in order is 7:8:4:5.
Find the type of [JABCD.

(1) Kite (2) Rhombus

(3) Trapezium (4) Parallelogram

Find the smallest number from the following such that when it is divided by
every one digit prime number, every time the remainder is 1.

(1) 106 () 211
(3) 31 4 71

Saurabh invested Rs. 5000 for 3 years at rate 10 p.c.p.a. with simple interest.
Yashashri invested same amount for the same period at the same rate of interest
with compound interest. Compare the interests earned by Saurabh and Yashashri.
(Select two correct option)

(1) Interest received by Yashashri was less by Rs. 1655 than Saurabh received.
(2) Interest received by Yashashri was more by Rs. 155 than Saurabh received.
(3) Interest received by Saurabh was more by Rs. 155 than Yashashri received.

(4) Interest received by Saurabh was less by Rs. 155 than Yashashri received.

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

Alamial 55 oAy dvaidl odsedl WAl 1 el 25 9l juvadl WA
Rl 44 of2dl AuR 97

(1) 711, 73 (2) 41, 83

(3) 59, 61 (4) 41, 43

-

JABCD <l 5HPIA QUL HUdl QTR 7:8:4:5 ¢ di JABCD <l UsR
20l

(1) wudal (2) dHesr AdsiL

(3) uudol aAqesivl (4) wHidReer Adrsiol

wis dvdld ol wis 25l YO Hvul 9 HPRIdL R quid 9 1 af 9 adl
AlMl el 2Hvur AlAAmigl 5657

(1) 106 (2) 211

(3) 31 (4) 71

AR 5000 3 10% €2 uHEL 3 ad W2 el ey Risul sl viedl
of s A o £ adzdl o Hed HI2 AsaFA dloy usald uMl sl s, dl
olerdel HOAL el datedl 52 (ol 2ys wdid dldl.)

(1) ugdld AR 52dl 1655 3(UdL sy >l HOY,

(2) uasld AR sdl 155 3MUa1 @Ay QAR He,

(3) dArRMd uasl s2di 155 3ua sy qUR |y,

(4) ARed undl sdi 155 30 sy i He,
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70. Which of the following can be the measure of an angle in the minor segment?
(1) 45° (2) 135°
(3) 180° 4) 90°
(4.97 + (2.1)3

(4.9)2 — (1029 x 1) + 4.41

(1) 0.7 2) 28 (3) 28.42 4 70

71.

Find the value of

72.  There is a regular hexagon having each side 14 cm. On every side a semicircle
is drawn from outside the hexagon, taking each side as the diameter. Find the
perimeter of the figure so formed.

(1) 132 cm (2) 308 cm (3) 216 cm (4) 123 cm

73. In the adjoining figure, an isosceles trapezium is drawn. The measurements
of sides of the figure are as follows.

I(QR) = I(PS) = 5 units,
[(PQ) = 5 units, /[(PT) = 4 units. Find the area of [JPQRS.

P 5 Q
5
4
1 []
S T M R
(1) 32 units (2) 44 sq. units
(3) 32 sq. units (4) 24 sq. units

SPACE FOR ROUGH WORK
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70.

71.

72.

73.

4gqavis Hidl voud, Hiu «dlqmial i el as?

(1) 45° (2) 135°
(3) 180° (4) 90°
3 3
(4.9 + (2.1) ey
(4.9)2 — (10.29 x 1) + 4.41
(1) 0.7 (2) 2.8 (3) 28.42 (4) 7.0

14 Al otsyaon [Qud w2sioedl ucds oty 2 2ld d ooy W oteRdl
wtado ell@ dl dur adl wugladl uRMA - sedl?

(1) 132 =l (2) 308 wdl

(3) 216 «dl (4) 123 «adl

ollog<dl 2l UHlaegor uudor AsiQl 9 dedl otiogdl HU Al uHgL 9.
I(QR) = [(PS) = 5 »isH, [(PQ) = 5 »isH, I(PT) = 4 »i54. dl JPQRS <
goga 5247

P 5 Q
5
4
] [
S T M R
(1) 32 2is4 (2) 44 Al »isH
(3) 32 @l visH (4) 24 2l visH
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74. Instead of investing Rs. 3000 with simple interest for two and half years, if
Rs. 4000 are invested with simple interest for two years, interest of Rs. 25 is

earned more. What is the rate of interest?
(1) 10% 2) 6%
3) 4% 4) 5%

75. Read the following statements and choose the correct alternative.
(A) 29, 31 are twin prime numbers.
(B) 29, 31 are co-prime numbers.

(C) 29, 31 are prime numbers.

(1) “A’, ‘B’, ‘C’ are correct. (2) Only ‘A’ and ‘C’ are correct.

(3) Only ‘B’ and ‘C’ are correct. (4) Only ‘A’ and ‘B’ are correct.

SPACE FOR ROUGH WORK
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4. el casy wshladl 3000 3L @2l v isal skdl 4000 3(UaL of ad w2
AL 52l 25 33Ul ey aUR HOL 9. dl dlovdl €2 s2dl ¢a?

(1) 10% (2) 6
(3) 4% (4) 5

R

R

AN,

7S, [l (@8l qil diod wula il

(21) 29, 31 il SASHOL =Hvul .

(01) 29, 31 21l yueyn Avul .

(5) 29, 31 2 o Hval 9,

(1) =, ‘o, ‘5" 20 2135 (2) s W’ 2d 5 wys
(3) g5 ‘o wid 5T 2y (4) g5 W vid ‘o vy
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B 3 XAb X0 XA AL AL 3B XAb AP AR AL 3B x4
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